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(a)

of v | 125 ] 15 | 175 2
yi 144 ] 1601 | 1803 | 2016 | 2236

1601 (May not be in the table and can
{Atx =125} y = 1.601 (only) score if seen as part of their working in

S B L)) R ) R

Bl cao

gt

(b)

1 | v
x
=
(2
W

2524 1414 + 2236+ 2( thewr 1.601+ 1.803 + 2.016)}

Bl;
MI1ALf

Ty — Alft: forthe correct expression
ZRlPm Rt 2 as shown following through

 SR——— } candhdate’s y value found in
part (a).

1

Bl: for using S 0.25 or

0D | e

or equivalent.

M1 requires the correct structure for the y values It needs to contain first y value plus last y
value and the second bracket to be multiplied by 2 and to be the summation of the remaming
¥ values in the table with no addinenal values. If the only nustake 1s a copying eror or 1s to
omit ong value from 2{ . ) bracket this may be regarded as a slip and the M mark can be
allowed {(nb: an extra repeated term. however. forfeits the M mark). MO if any values nsed
ars x values mstead of y values

Alft: for the correct underhned expression as shown following through candidate 's y value
found n part (a).

Bracketing mustakes: ¢.g.

1 1), :
{ rer |(1414 + 2.236)+2(thew 1601+ 1,803 + 2.016)(=11.29625)

hY
{%x% 1.414 + 2236+ 2(their 1601+ 1.803 + 2.016)(:13.25‘275)
& =

Both score Bl M1 A0 unlass the final answer mmphes that the calculation has been done
correctly (then full marks could be given).

Alternative:
Separate trapezia may be used, and tlus can be marked equivalently

: ,
[5(1_414 +1.601) +é;(l.601 +1.803) + éa.aoz +2.016) +é(2.o16 ¥ 2.236)]

1
Bl for g {aef). M1 for corract structure, 1st Alft for correct expression, ft thewr 1.601

(= 1(1449)} = 181125 1.81 or awrt 181

Al

Correct answer only in (b) scores no marks
If required accuracy is not seen in (a), full marks can still be scored in (b) (e.g. uses 1.6)
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_____________ . R Bl
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............. - " A1
6
F2@ |7 and Vi3 Bl
(D
® | Area(R)x 2 x 200 5 +2{V7 + VT +15) 15 B1: M1
Note decimal values are
~x 20 B 418+ 2T VT + )| = 2 2{ 60909. +19.6707..)
=1x 25.76166865... = 25.76166... = 25.76 (de) Al cao
3)
(c) underestimate Bl
(1)
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